Industrial hydraulic valve | T\l JE i@ TE

LI

LY 4
Hanshang Hydraulic

4DWHG25 SERIES
SOLENOID PILOT OPERATED
DIRECTIONAL VALVES

2zog enbojeien

4ADWHG25 BUE8 i (6] 1] =2 FH BB R [0 iR 1E A SE S 426 108 1R 4DWHG25 series are solenoid pilot operated spool type valves . This series
RirEE, BT HRRRENRsi A E, are used to control the start ,stop and direction of flow.

© #ARB% Technical data

1#1% Size o5
&5 LIEEH P A B(MPa) Max operating pressure P.A.B(MPa) 35
F2 4 5H 5MHE Externally drained 25

T O (MPa) T Port (MPa) % (AC)-10

=030 A HE Internally drained
Hi (DC)-16

% (AC)-10
Hift (DC)-16

Y O (MPa)Y Port (MPa) #2413l 5ME Externally drained

B/MEEIE S (MPa) Min. Pilot pressure(MPa) 0.45-1
B&KifE (L/min)Max. flow rate(L/min) 650
EE (T3 ) Weight(KGS) 18

Bk (##}) REAbE

12 casti hosphati rf
Valve body ( Material ) Surface treatment A o e T iy G

NAS1638 9 Z#1 1ISO4406 20/18/15 4
Hi&E S E /Oilcleanliness
LD L NAS1638 class 9 and 1SO4406 class 20/18/15

Ningbo Hanshang Hydraulic Co.,Ltd.



—®
M)
Hanshang Hydraulic
O #MEMk: 4DWHG25... B ( fEfERHLP46 , Om=40 T + 5 CHUE)
Characteristic curves: Type 4DWHG25... ( measured with HLP46 , Voil=40 T+ 5 C)

Ap-q,/£8E#% Characteristic curves 8 7 6 5 & Flowin ( L/min )—>
14
/ / "¢ [pmens VIR Spootpostion
12 // /// 3 ISpool symbol P_A PB AT BT
10 A S /,A// 2 E 1 1 1 3
'%s // // / , F 1 4 3 3
o 8 g P
te 7 A // G 3 1 2 4
%‘5 6 ///J'A//// » . . 3 ’
a@ /
;H-é 4 VA ;/'/ J 2 2 3 5
= g
Hs
2 ,/4%,4/ — _ _
= 7 WS YIHaL & Spool position
Spool symbol|
0 P-A | P-B A-T B-T
0 100 200 300 400 500 600 650 L R » 3 3
7 HlBEFFS G Spool symbol G M 4 4 1 4
iz P-T Central position P - T P 4 1 1 5
8 #HlEEFS T Spool symbol T - > , ] -
fifift P- T  Central positon P - T
WHG WHG
S #1875 Spool symbols A B A, B
pooLsy ool e S0 [ PR e
o L
A, B
NAnT o nnntE
DWHG ber i g
A, B
osla [b By ot
p T
Ao A B
Lo |7 Fgn [0 [0 bag -0/
P T
P T
A B DWHG
T PTT
A B A B
P T P T
T T T T
XHHEHN X ¢ zﬂiﬁu -
alod e
T IT T 10
Az maty AL o A
O b ...H-..B
I

ii
<]

L X

Mo . [HEEX [EX
o YHEED  XEO -
eore o ST T [X]El]]:ﬂ }

;
:

>l
Ii

L
iﬂg
il

Salislai

%
B
LU

www.nshpv.com




O
)
—
o
o
Q
=
]
N
(=
N
N

Industrial hydraulic valve | T il & [E i@

4DWHG25 #!

1. A ESMIEER: FTmRE, ¥ MeiR
£T 15MiE, 3R M6 4257 2 B it

2, MHESSMERES: BERMLETFLPE M6
BT 2 R T ANHE, 3 EASME,

EERET: ARMASURRE L X OFE,
MHERT IR L Y A

Ningbo Hanshang Hydraulic Co.,Ltd.

© E=HImAHEIMER AHES SMERIERA Pilot fluid supply

EE
Main valve DWHG25 BfitHELEHIE
DWHG25 explandion partial drawing

3 . 4DWHG25

(1) Internal pilot and external pilot:

Removing the sideward cover,installing M6
screw 1 is external pilot,unscrew the M6 screw
2 is internal pilot.

(2) Internal drain and external drain:
Removing the M6 screw 2 in the "T"port on the
top of main valve is internal drain, installing the
M6 screw 2 is external drain.

NOTE : 1.The "X" port on the base plate must
be plugged if internal pilot.

2.The "Y" port on the base plate must
be plugged if internal drain.



- ®

LT

-
Hanshang Hydraulic

C 4DWHG25 4pEIR~F 4DWHG25 Overall Dimensions

209

126

302

130
53 6-014 % Pylome

9
:

|
7

|

|
ki

|

|

|

|

|

1.5

B
‘><
W\

7
H

\\\
N

\S

151

%) [ 7€ B2 5T Valve's set screw

6 4 M12X60 GB/T 70.1-12.9 4 $7%%#%E Ma=130Nm 6 of M12 x 60 GB/T70.1-12.9 Tightening torque Ma=130Nm.
AB.P.THO0ZE: © 34X3.1 O-ring for P.T.A.B Port: ¢ 34 x 3.1

XY O0#E: © 25X3.1 O-ring for X.Y Port: ¢ 25 x 3.1

www.nshpv.com




O
)
—
)
o
Q
=
®
N
(=
N
N

Industrial hydraulic valve | T il i & i@

C ERZEHER T Installation dimensions

6-M12/25

74.5
46

H@§¢/ 3

116

73

by
ASS
2o
(I
o
92

5.6

=
-
[+

!

4DWHG25| E |60,/ x [Dcaa] N« /s [z5L] | « [ = [« |

1z 25
Size 25

L AL S
See the function symbol
of spool valve

%% 60=16-32 @ 1%
Series 60=Size 16-32

T =BEEN

O= SRS

OF= BRI EMEE, HEMS

No code=With spring return
O=Without spring return

OF=Without spring return,with detent

FJE Voltage
DC12;DC24 ;AC110;AC220

N= B fEte B

N=With concealed manual override

o = SMESMHFRLE= SN HERY

ET= W MHERY T= M HERY

No code=Externally pilot, externally drained
E=Internally pilot, externally drained
ET=Internally pilot, internally drained
T=Externally pilot, internally drained

Bt in 15 AR
For further details

T = TR
V= @A

No code =NBR seals
V=FPM seals

FARIE = NETHUER

P4.5= HER; FRIES 0.45MPa
No code=Without preload valve
P4.5=With preload valve

cracking pressure is 0.45MPa

R = AN R
(FBELREE P O )

B0.8= TiiifL1# 0.8 B10= TiifLZ 1.0
B12= Hififl#® 1.2 B15= iR 1.5
No coad if without plug-in throttleer
B0.8=Throttle orifice size 0.8

B10=Throttle orifice size 1.0

B12=Throttle orifice size 1.2

B15=Throttle orifice size 1.5

Z5L= kTR ARk

ER= BEEREk

Z5L= Large quadrate plug with light
ER=Deutsch Connector

= RBRATHE

S=FRETHR, #FOFRS2=FATHHE, HAOTR
No code=Without pilot adjustment

S=With meter-in pilot adjustment

S2=With meter-out pilot adjustment

Ningbo Hanshang Hydraulic Co.,Ltd.





